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1. Which Article of Indian Constitution deals

with the  liability of state for tort?

(A) 100

(B) 200

(C) 300

(D) 400

2. General defenses and exceptions to

liability in tort is / are :

(A) Act of God

(B) Act of State

(C) Private Defense

(D) All of the above

3. Principle of volenti not fit injuria is based

on :

(A) Good sense

(B) Justice

(C) Both (A) and (B)

(D) None of these

4. Case related to volenti not fit injuria is /

are :

(A) Smith vs. Baker & Sons.

(B) Dann vs. Hamilton

(C) Nettleship vs. Westin

(D) All of the above

5. In which case primary valid defenses of

the Act of God were established?

(A) Dann vs. Hamilton

(B) Nicholas vs. Marsland

(C) Mostyn vs. Fabrigas

(D) All of the above

1. Hkkjrh; lafo/kku dk dkSu&lk vuqPNsn vid̀R;
ds fy;s jkT; ds nkf;Ro ls lEcfU/kr gS\

(A) 100

(B) 200

(C) 300

(D) 400

2. vid`R; nkf;Ro dk lkekU; cpko rFkk
viokn gS %

(A) nSoh d`R;

(B) jkT; d̀R;

(C) oS;fDrd cpko

(D) mi;qZDr lHkh

3. ^,sfPNd dk;Z nq"d`fr ugha gS* fl)kUr dk
vk/kkj gS %

(A) lr~ cks/k

(B) U;k;

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

4. ^,sfPNd dk;Z nq"d`fr ugha gS* ls lEcfU/kr
okn gS %
(A) fLeFk cuke csdj ,.M lUl
(B) MSu cuke gSfeYVu
(C) usVsyf'ki cuke osfLVu
(D) mi;qZDr lHkh

5. fdl okn esa loZizFke nSohd̀R; ds ekU;
cpko LFkkfir gq;s\

(A) MSu cuke gSfeYVu

(B) fudksYl cuke eklZyS.M

(C) eksfLVu cuke QSczhxkl

(D) mi;qZDr lHkh
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6. Maxim – "Ubi Jus Ibi remedium" is related

to :

(A) Legal Remedy

(B) Pecuniary Compensation

(C) Mens rea

(D) None of these

7. Intention is ______ element of Tortious

liability.

(A) Essential element

(B) Not a essential element

(C) Either (A) or (B)

(D) Neither (A) nor (B)

8. According to whom, 'fault is not a essential

element of tortious liability'?

(A) Salmond

(B) P. V. Young

(C) H. L. Hart

(D) All of the above

9. Principle / theory related to Negligence

in term of tortious liability is / are :

(A) Subjective

(B) Objective

(C) Both (A) and (B)

(D) None of these

10. Essential element of negligence is / are :

(A) Duty to take care

(B) Duty of care must be owed to
plaintiff

(C) Breach of duty to take care

(D) All of the above

6. lwfDr & ^^tgk¡ {kfr gS ogk¡ mipkj gS**
lEcfU/kr gS %

(A) fof/kd mipkj ls

(B) /kuh; izfrdj ls

(C) vijk/kh eu ls

(D) buesa ls dksbZ ugha

7. vk'k; vidR̀; nkf;Ro dk ____ gSA

(A) vko';d rRo

(B) vko';d rRo ugha

(C) ;k rks (A) ;k (B)

(D) uk rks (A) uk gh (B)

8. fdlds vuqlkj] ̂ cqf)] vid`R; nkf;Ro dk
vko';d rRo ugha gS*\

(A) lke.M

(B) ih- oh- ;ax

(C) ,p- ,y- gkVZ

(D) mi;qZDr lHkh

9. vid`R; nkf;Ro ds lanHkZ@ifjizs{; esa mis{kk
ls lEcfU/kr er@fl)kUr gS %

(A) O;fDrfu"B@vkRefu"B

(B) oLrqfu"B@fo"k;fu"B

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

10. mis{kk dk vko';d rRo gS %

(A) lko/kkuh cjrus dk drZO;

(B) lko/kkuh cjrus dk drZO; oknh ds
izfr gksuk pkfg,

(C) lko/kkuh cjrus ds drZO; dk
mYya?ku

(D) mi;qZDr lHkh
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11. In which case court not accepted the
Nervous Shock as a tort?

(A) Doughty vs. Turner Manufacturing
Co. Ltd.

(B) Victorian Railway Commissioner
vs. Coultas

(C) Brankway vs. South Wales
Transport Co. Ltd.

(D) All of the above

12. For the compensation of the tort of
Nervous Shock ____ is / are required.

(A) Only nervous anguish

(B) Nervous and physical anguish

(C) Either (A) or (B)

(D) None of these

13. Case related to Nervous Shock is / are :

(A) Wilkinson vs. Downton

(B) Dulieu vs. White

(C) Bourhill vs. Young

(D) All of the above

14. Which is / are related to vicarious liability?

(A) Respondeat superior

(B) Qui facit per alium facit per se

(C) Both (A) and (B)

(D) None of these

15. Case related to vicarious liability is / are :

(A) Morgans vs. Launchbury &
Others

(B) Kuback vs. Hollands

(C) Khoda Parast vs. Shad

(D) All of the above

11. fdl okn esa U;k;ky; us ekufld vk?kkr
dks vid`R; ugha ekuk\

(A) M¶Vh cuke VuZj eSU;qQSDpfjax d-
fy-

(B) foDVksfj;u jsyos dfe'uj cuke
dksYVkl

(C) czsados cuke lkmFk osYl VªkaliksVZ
d- fy-

(D) mi;qZDr lHkh

12. ekufld vk?kkr vidR̀; dh uqdlkuh ds
fy;s ____ vko';d gSA

(A) dsoy ekufld ihM+k

(B) ekufld vkSj 'kkjhfjd ihM+k

(C) ;k rks (A) ;k (B)

(D) buesa ls dksbZ ugha

13. ekufld vk?kkr ls lEcfU/kr okn gS %

(A) foyfdUlu cuke MkmUVu

(B) Mwyh;w cuke OgkbZV

(C) cksjfgy cuke ;ax

(D) mi;qZDr lHkh

14. dkSu izfrfuf/kd nkf;Ro ls lEcfU/kr gS\

(A) mPp vf/kdkjh dk vkns'k

(B) D;wbZ QsflV ij ,sfy;e QsflV ij lh

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

15. izfrfuf/kd nkf;Ro ls lEcfU/kr okn gS %

(A) ekjxUl cuke ykUpcjh o vU;

(B) dqckd cuke gkyS.M~l

(C) [kksnk ijLr cuke 'kkn

(D) mi;qZDr lHkh
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16. The defense of Act of God is now limited
due to :

(A) Inevitable accidents

(B) Mistake

(C) Foreseeability of damage

(D) All of the above

17. Main case related to inevitable accidents
is / are :

(A) Brown vs. Kendal

(B) Holmes vs. Mather

(C) Stanley vs. Powell

(D) All of the above

18. Type of private defense is / are :

(A) Private defense of person

(B) Private defense of property

(C) Both (A) and (B)

(D) Either (A) or (B)

19. Case related to private defense is / are :

(A) Turner vs. Jagmohan

(B) Morris vs. Nugent

(C) Holmes vs. Bagge

(D) All of the above

20. Against the tortious liability of Nuisance
defense of statutory authority is :

(A) Applicable

(B) Not applicable

(C) Sometimes applicable

(D) All of the above

16. vc nSohd`R; ds cpko dks ____ }kjk
lhfer dj fn;k x;k gSA

(A) vo';EHkkoh nq?kZVukvksa

(B) Hkwy

(C) {kfr ds iwokZuqeku

(D) mi;qZDr lHkh

17. vo';EHkkoh nq?kZVukvksa ls lEcaf/kr izeq[k
okn gS %

(A) czkmu cuke dsUMy

(B) gksEl cuke ekFksj

(C) LVsuyh cuke ikWosy

(D) mi;qZDr lHkh

18. oS;fDrd cpko dk izdkj gS %

(A) 'kjhj dk oS;fDrd cpko

(B) lEifÙk dk oS;fDrd cpko

(C) nksuksa (A) vkSj (B)

(D) ;k rks (A) ;k (B)

19. oS;fDrd cpko ls lEcfU/kr okn gS %

(A) VuZj cuke txeksgu

(B) ekfjl cuke U;wtsUV

(C) gksEl cuke cSxs

(D) mi;qZDr lHkh

20. mirki ds izfr vkid`fR;d ftEesnkjh@
nkf;Ro gsrq dkuwuh vf/kdkj dk cpko
____ gSA

(A) ykxw gksrk

(B) ykxw ugha gksrk

(C) dHkh&dHkh ykxw gksrk

(D) mi;qZDr lHkh
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21. For vicarious liability which is related to
principal and agent?

(A) Qui facit per alium facit per se

(B) Respondeat superior

(C) Either (A) or (B)

(D) Both  (A) and (B)

22. Case related to principal and agent for
vicarious liability is / are :

(A) LLoyd vs. Grace Smith & Co.

(B) Ormord vs. Crossville Motor
Services Ltd.

(C) Norton vs. Canadian Pacific
Steamship

(D) All of the above

23. In which case court defined the servant in
term of vicarious liability?

(A) Barwick vs. English Joint Stock
Bank

(B) Sitaram vs. Shantanu Prasad

(C) Hewitt vs. Banwin

(D) None of these

24. Case related to liability for casual
delegation is/are :

(A) Ormord vs. Crossville Motor
Services Ltd.

(B) LLoyd vs. Grace Smith & Co.

(C) Phillips vs. Eyre

(D) All of the above

25. The doctrine of common employment was
established / propounded in the case of :

(A) Brankway vs. South Wales
Transport Corp. Ltd.

(B) Home Office vs. Dorset Yacht Co.

(C) Priestley vs. Fowler

(D) None of these

21. izfrfuf/kd nkf;Ro ds fy;s dkSu ekfyd
rFkk ,ts.V ls lEcfU/kr gS\
(A) D;wbZ QsflV ij ,fy;e QsflV ij lh
(B) jsLikfUM;j lqihfj;j
(C) ;k rks (A) ;k (B)

(D) nksuksa (A) vkSj (B)

22. izfrfuf/kd nkf;Ro gsrq ekfyd rFkk ,ts.V
ls lEcfU/kr okn gS %
(A) yk;sM cuke xzsl fLeFk ,.M d-
(B) vkjeksMZ cuke Øklfoys eksVj

lfoZlst fy-
(C) ukWVZu cuke dSusfM;u iSlhfQd

LVhef'ki
(D) mijksDr lHkh

23. fdl okn esa U;k;ky; us izfrfuf/kd nkf;Ro
ds fy;s ^lsod* dks ifjHkkf"kr fd;k\
(A) ckjfod cuke bafXy'k Tokb.V LVkWd

cSad
(B) lhrkjke cuke 'kkUruq izlkn
(C) gsfoV cuke ckufou
(D) buesa ls dksbZ ugha

24. vkdfLed iz;kstu ds fy;s nkf;Ro ls
lEcfUèkr okn gS %
(A) vkjeksMZ cuke Øklfoys eksVj

lfoZlst fy-
(B) yk;sM cuke xzsl fLeFk ,.M d-
(C) fQfyIl cuke vkbZj
(D) mi;qZDr lHkh

25. fdl okn esa lkekU; fu;kstu dk fl)kUr
izfrikfnr@LFkkfir fd;k x;k\
(A) czsados cuke lkmFk osYl VªkaliksVZ

dkjiks- fy-
(B) gkse vkWfQl cuke MksjlsV ;kV d-
(C) izhLVys cuke Qkmyj
(D) buesa ls dksbZ ugha

[P.T.O.]
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26. Case related to Malicious Prosecution is/
are :

(A) Austin vs. Dowling

(B) B.Venkatappa vs. Lovis

(C) Both (A) and (B)

(D) None of these

27. Case related to "the words must be
defamatory" :

(A) Capital and Counties Bank Ltd.
vs. Henty

(B) Lewis vs. Daily Telegraph Ltd.

(C) Both (A) and (B)

(D) None of these

28. Case related to "The words must refer to
the plaintiff" is/are :

(A) Hulton & Co. vs. Jones

(B) Newstead vs. London Express
News papers Ltd.

(C) Both (A) and (B)

(D) None of these

29. Main case related to defamation of a class
is / are :

(A) Knupffer vs. London Express
News papers Ltd.

(B) Watson vs. McEwan

(C) Both (A) and (B)

(D) None of these

30. Main case related to - "For defamation the
words must be published" is / are :

(A) Scott vs. London Docks Co.

(B) British Railway Board vs.
Harrington

(C) Huth vs. Huth

(D) All of the above

26. fo}s"kiw.kZ vfHk;kstu ls lEcfU/kr okn gS %

(A) vkfLVu cuke Mkmfyax

(B) ch- osUdVIik cuke yksohl

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

27. ^^'kCn ekugkfutud gksus pkfg;s** ls
lEcfUèkr okn gS %
(A) dSfiVy vkSj dkm.Vht cSad fy-

cuke gsUVh
(B) ysfol cuke Msyh VsyhxzkQ fy-
(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha
28. ^^'kCn oknh ds izfr ;k fo"k; esa dgs tkus

pkfg;s** ls lEcfU/kr okn gS %
(A) gYVu ,.M d- cuke tksUl
(B) U;wLVsM cuke yUnu ,Dlizsl U;wt

isilZ fy-
(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha
29. ^^fdlh oxZ dh ekugkfu** ls lEcfU/kr

izeq[k okn gS %
(A) uqIQwj cuke yUnu ,Dlizsl U;wt

isilZ fy-
(B) okV~lu cuke eSdboku
(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha
30. ekugkfu ds fy, ^^'kCnksa dk izdk'ku

vko';d gS** ls lacaf/kr izeq[k okn gS %

(A) LdkWV cuke yanu MkWDl d-

(B) fczfV'k jsyos cksMZ cuke gSfjaxVu

(C) gFk cuke gFk

(D) mi;qZDr lHkh
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31. Primary case related to statutory authority
is / are :

(A) Metropolitan Asylum District vs.
Hill

(B) Att. Gen. vs. Nottingham Corp.

(C) Geddis vs. Bann Reservoir

(D) All of the above

32. According to whom, "Necessity knows no
Law."?

(A) Austin

(B) Bentham

(C) John Rawls

(D) Shakespeare

33. Primary case related to 'Necessity' in tort
is / are :

(A) Cope vs. Sharpe

(B) Kirk vs. Gregory

(C) Both (A) and (B)

(D) None of these

34. Maxim – “ex turpi causa non oritur actio"

is related to :

(A) Necessity

(B) Plaintiff a wrongdoer

(C) Damage incident to authorised act

(D) Act causing silent harm

35. For Judges in India, Defense of Judicial
and Quasi Judicial is described by Judicial
Officers Protection Act :

(A) 1820

(B) 1920

(C) 1850

(D) 1950

31. dkuwuh vf/kdkj ls lEcfU/kr izeq[k okn gS %

(A) esVªksiksfyVu ,lkbye fMfLVªDV cuke
fgy

(B) ,VkuhZ tujy cuke ukfVa?ke

(C) xsM~Mhl cuke cSu fjtokZ;j

(D) mi;qZDr lHkh

32. fdlds vuqlkj] ^^vko';drk fdlh dkuwu
dks ugha ekurhA**\

(A) vkfLVu

(B) csaFke

(C) tkWu jkWYl

(D) 'ksDlih;j

33. vid`R; gsrq ^^vko';drk** ls lEcaf/kr
izeq[k okn gS %

(A) dksis cuke 'kkisZ

(B) fddZ cuke xzsxjh

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

34. lwfDr@lw= & ̂ ^,Dl VihZ dktk ukWu vjhrqj
,fDl;ks** lEcaf/kr gS %

(A) vko';drk

(B) oknh Lo;a nks"kiw.kZ dk;Z djus okyk

(C) izkf/kdr̀ dR̀;ksa dh vkuq"kafxd {kfr

(D) FkksM+h&lh {kfr dkfjr djus okys d̀R;

35. Hkkjr esa U;k;k/kh'kksa gsrq U;kf;d rFkk U;kf;d
lǹ'k dk cpko tqfMf'k;y vkWQhllZ izksVsD'ku
,DV] _____ esa of.kZr gSA

(A) 1820

(B) 1920

(C) 1850

(D) 1950
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36. Which is / are defense against defamation

case?

(A) Justification

(B) Fair comment

(C) Privilege

(D) All of the above

37. For defamation, type of privilege is / are :

(A) Absolute

(B) Qualified

(C) Both (A) and (B)

(D) None of these

38. For defamation case related to judicial

privilege is :

(A) Watson vs. McEwan

(B) Jolley vs. Sutton London Council

(C) Both (A) and (B)

(D) None of these

39. Which Article of Indian Constitution deals

with  Parliamentary privilege?

(A) 103

(B) 105

(C) 203

(D) 205

40. Main case related to Parliamentary

privilege is/are :

(A) Cox vs. Burbridge

(B) Hamilton vs. Alfayed

(C) Edington vs. Fitzmaurice

(D) All of the above

36. ekugkfu okn ds izfr cpko D;k gS\

(A) vkSfpR;

(B) U;k;iw.kZ Vhdk&fVIi.kh

(C) fo'ks"kkf/kdkj

(D) mijksDr lHkh

37. ekugkfu ds lanHkZ esa fo'ks"kkf/kdkj dk izdkj gS %

(A) iw.kZ

(B) l'krZ

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

38. ekugkfu ds lanHkZ esa U;kf;d fo'ks"kkf/kdkj
ls lEcfU/kr okn gS %

(A) okV~lu cuke eSdboku

(B) tkyh cuke lVu yanu dkmafly

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

39. Hkkjrh; lafo/kku dk dkSu&lk vuqPNsn lalnh;
fo'ks"kkf/kdkj ls lEcfU/kr gS\

(A) 103

(B) 105

(C) 203

(D) 205

40. lalnh; fo'ks"kkf/kdkj ls lEcfU/kr izeq[k
okn gS %

(A) dkWDl cuke cjfczt

(B) gSfeYVu cuke vyQ;sn

(C) bfMUxVu cuke fQV~tekfjl

(D) mi;qZDr lHkh



10016-C/675 (  11  )

41. Which case is / are related to Parental
and Quasi Parental Acts?

(A) Rex vs. Newport Justices Wright

(B) Adamson vs. Jarvis

(C) The Emperor Jamaica case

(D) All of the above

42. Essential element of tort is / are :

(A) Wrongful Act

(B) Legal Damage

(C) Legal Remedy

(D) All of the above

43. Case of Ashby vs. White is related to :

(A) Injuria sine Damno

(B) Damnum sine injuria

(C) Both (A) and (B)

(D) None of these

44. Gloucester Grammar School Case is
related to :

(A) Injuria sine Damno

(B) Damnum sine injuria

(C) Both (A) and (B)

(D) None of these

45. Other remedies for tort is / are :

(A) Specific restitution

(B) Injunction

(C) Both (A) and (B)

(D) None of these

41. dkSu&lk okn iSr̀d rFkk iSrd̀ ln`'; d`R;
ls lEcfU/kr gS\

(A) jsDl cuke U;wiksVZ tfLVlst jkbV

(B) ,MElu cuke tkjfol

(C) fn bEijj tek;dk okn

(D) mi;qZDr lHkh

42. vid`R; dk vko';d rRo gS %

(A) nks"kiw.kZ dk;Z

(B) fof/kd uqdlkuh

(C) fof/kd mipkj

(D) mi;qZDr lHkh

43. ,s'koh cuke OgkbZV okn lEcfU/kr gS] ls %

(A) bUtwfj;k lkbu MSeuks

(B) MSeue lkbu bUtwfj;k

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

44. XykslsLVj xzkej Ldwy okn lEcfU/kr gS] ls %

(A) bUtwfj;k lkbu MSeuks

(B) MSeue lkbu bUtwfj;k

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

45. vid`R; ds fy;s vU; mipkj gS %

(A) fof'k"V izR;kLFkkiu

(B) O;kns'k

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

[P.T.O.]
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46. Case related to "Res ipsa Loquitur" is /
are :

(A) Scott vs. London & St. Katherine
Docks Co.

(B) Shyam Sunder vs. State of
Rajasthan

(C) Collector of Ganjam vs.
Chandrama Das and Others

(D) All of the above

47. Condition for application of res ipsa
loquitur is / are :

(A) Management / control of
defendant or his servants

(B) Absence of explanation

(C) Both (A) and (B)

(D) Neither  (A) nor (B)

48. Main case related to contributory
negligence is / are :

(A) Butterfield vs. Forester

(B) Inkiv vs. Samuels

(C) Smith vs. Leach Brain & Co. Ltd.

(D) All of the above

49. A corporation may not be sued for :

(A) Assault

(B) False imprisonment

(C) Both (A) and (B)

(D) None of these

50. For tort a  minor ____  sue as like a adult.

(A) can

(B) cannot

(C) both (A) and (B)

(D) either  (A) or (B)

46. ^^?kVuk Lo;a cksyrh gS ;k Lo;a izek.k** ls
lEcfU/kr okn gSA

(A) LdkV cuke yanu ,.M lsaV dSFkjhu
MkDl d-

(B) ';ke lqUnj cuke jktLFkku jkT;

(C) xatke ds dysDVj cuke panzek
nkl vkSj vU;

(D) mi;qZDr lHkh

47. jsl bIlk yksD;wVj ds ykxw gksus dh 'krZ gS %

(A) izfroknh@blds lsodksa dk izca/k ;k
fu;a=.k

(B) izfroknh }kjk Li"Vhdj.k dh
vuqifLFkfr

(C) nksuksa (A) vkSj (B)

(D) u rks (A) u gh (B)

48. va'knk;h mis{kk ls lEcfU/kr izeq[k okn gS %

(A) cVjQhYM cuke QkjsLVj

(B) bUdho cuke lsE;wYl

(C) fLeFk cuke yhp czsu ,.M d-fy-

(D) mi;qZDr lHkh

49. ,d fuxe ij okn ugha fd;k tk ldrk %

(A) geys dk

(B) voS/k dSn dk

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

50. vid`R; ds fy;s ,d vo;Ld] O;oLd dh
rjg okn  ____  A
(A) dj ldrk gS
(B) ugha dj ldrk gS
(C) nksuksa (A) vkSj (B)

(D) ;k rks (A) ;k (B)
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51. Case related to Detinue is/are :

(A) Dhian Singh Shobha Singh vs.
Union of India

(B) Bansi vs. Goverdhan

(C) Both (A) and (B)

(D) None of these

52. Which writ is known as mother of all writs?

(A) Writ of Mandamus

(B) Writ of Quowarranto

(C) Writ of Trespass

(D) Writ of Habeas corpus

53. Case related to misstatements is/are :

(A) McGhee vs. National Coal Board

(B) Cassidy vs. Daily Mirror News
Paper Ltd.

(C) Edgington vs. Fitzmaurice

(D) All of the above

54. Derry vs. Peek rule is related to :

(A) Damage to plaintiff

(B) Active concealment

(C) Where there is duty to speak

(D) Defendant must have knowledge
of the falsity of the statement

55. Exception of the Derry vs. Peak rule is /
are :

(A) Fiduciary Relationship

(B) Warranty of Authority

(C) Statutory Duty

(D) All of the above

51. MsfVU;w ls lEcfU/kr okn gS %

(A) /;ku flag 'kksHkk flag cuke Hkkjr la?k

(B) cU'kh cuke xkso)Zu

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

52. dkSu&lh fjV dks lHkh fjVksa dh ekrk dgk
tkrk gS\

(A) ijekns'k dh fjV

(B) vf/kdkj i`PNk dh fjV

(C) vfrpkj dh fjV

(D) canh izR;{khdj.k dh fjV

53. feF;k dFku ls lEcfU/kr okn gS %

(A) eSd?kh cuke us'kuy dksy cksMZ

(B) dslhMh cuke Msyh fejj U;wtisilZ fy-

(C) bfMaxVu cuke fQV~tekfjl

(D) mi;qZDr lHkh

54. Msjh cuke ihd dk fu;e lEcfU/kr gS %

(A) oknh dks uqdlku

(B) lfØ; fNiko

(C) tgk¡ cksyus dk drZO; gksrk gS

(D) izfroknh ds dFku dh vlR;rk
dk Kku gksuk

55. Msjh cuke ihd fu;e dk viokn gS %

(A) oS'okfld lEcU/k

(B) izkf/kdkj dh okjaVh

(C) dkuwuh@lkafof/kd drZO;

(D) mi;qZDr lHkh

[P.T.O.]
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56. Case related to Battery is / are :

(A) Jacobs vs. London County
Council

(B) Hurst vs. Picture Theatres Ltd.

(C) Both (A) and (B)

(D) None of these

57. According to whom, “Assault is an Act of
the defendant which causes to the plaintiff
reasonable apprehension of the infliction
of a battery on him by defendant."?

(A) Stark

(B) Bentham

(C) Winfield

(D) Austin

58. Case related to Assault is :

(A) Read vs. Coker

(B) Gorham vs. British
telecommunications

(C) Hamilton vs. Alfayed

(D) All of the above

59. Assault and Battery is/are :

(A) Tort

(B) Crime

(C) Both (A) and (B)

(D) Either  (A) or (B)

60. According to whom, "The infliction of bodily
restraint which is not expressly or
impliedly authorised by law is false
imprisonment."?

(A) Bentham

(B) Stark

(C) Winfield

(D) Austin

56. voS/k izgkj ls lEcfU/kr okn gS %

(A) tSdCl cuke yUnu dkmUVh dkmafly

(B) gLVZ cuke fiDplZ fFk;sVlZ fy-

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

57. fdlds vuqlkj] ^^geyk izfroknh ds ,sls
d`R; dks dgrs gSa ftlls oknh dks ;qfDr;qDr
vk'kadk gksrh gS fd izfroknh ml ij voSèk
izgkj djsxkA**\

(A) LVkdZ

(B) csaFke

(C) fouQhYM

(D) vkfLVu

58. geys ls lEcfU/kr okn gS %

(A) jhM cuke dksdj

(B) xksjge cuke fczfV'k

VsyhdE;wfuds'kUl

(C) gSfeYVu cuke vyQ;sn

(D) mi;qZDr lHkh

59. geyk rFkk voS/k izgkj gS %

(A) vid`R;

(B) vijk/k

(C) nksuksa (A) vkSj (B)

(D) ;k rks (A) ;k (B)

60. fdlds vuqlkj] ̂ ^voS/k dSn ls rkRi;Z ,sls
'kkjhfjd vojks/k ls gksrk gS tks O;Dr ;k
foof{kr :i ls fof/k }kjk izkf/kd̀r ugha gSA**\

(A) csaFke

(B) LVkdZ

(C) fouQhYM

(D) vkfLVu
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61. Aim / function of the Law of tort is / are :

(A) Appeasement

(B) Deterrence

(C) Loss-spreading

(D) All of the above

62. Term "Tort" is derived from ____ word

Tortum.

(A) French

(B) German

(C) Latin

(D) English

63. According to whom, Tort is a "wrong

independent of contract, for which

appropriate remedy is Common Law

Action"?

(A) Salmond

(B) Austin

(C) Bentham

(D) Clerk and Lindsell

64. In which case Supreme Court of India

differentiate tort and crime?

(A) M.C. Mehta vs. Union of India

(B) P. Rathinam vs.  Union of India

(C) Ms. Kasturi Lal vs. State of U.P.

(D) All of the above

65. Trespass to land is :

(A) Actionable per se

(B) Not actionable per se

(C) Both (A) and (B)

(D) Either (A) or (B)

61. vid`R; fof/k ds@dk mn~ns';@dk;Z gS %

(A) virqf"V

(B) fuokj.k

(C) gkfu foLrkj

(D) mi;qZDr lHkh

62. ^VkVZ* 'kCn dh mRifÙk ____ 'kCn VkVZe ls
gqbZ gSA

(A) Ýsap

(B) teZu

(C) ySfVu

(D) vaxzsth

63. fdlds vuqlkj] vid`R; ,d ^^,slk nks"k
gS] tks fd lafonk ls Lora= gksrk gS rFkk
ftldk mi;qDr mipkj dkWeu ykW dk
okn@vuq;ksx gSA**\
(A) lke.M
(B) vkfLVu
(C) csaFke
(D) DykdZ vkSj fyUMlsy

64. fdl okn esa Hkkjrh; mPpre U;k;ky; us
vid`R; rFkk vijk/k ds varj dks Li"V
fd;k\
(A) ,e-lh- esgrk cuke Hkkjr la?k

(B) ih- jFkhuke cuke Hkkjr la?k

(C) es- dLrwjh yky cuke m-iz- jkT;
(D) mi;qZDr lHkh

65. Hkwfe ds izfr vfrpkj gksrk gS %

(A) Lo;a esa gh vuq;ksT;

(B) Lo;a esa vuq;ksT; ugha gksrk

(C) nksuksa (A) vkSj (B)

(D) ;k rks (A) ;k (B)



10016-C/675 (  16  )

66. In England torts of Detenue were
repealed / ended by torts (Inference with
Goods) Act, ____ .

(A) 1971

(B) 1977

(C) 1981

(D) None of these

67. According to whom, "The act of trespass
consists in committing without lawful
justification any act of direct physical
interference with a chattel in the
possession of another person is trespass
to goods."?

(A) Salmond

(B) Bentham

(C) Austin

(D) None of these

68. Trespass to goods is / are :

(A) Actionable per se

(B) Not actionable per se

(C) Both (A) and (B)

(D) Either (A) or (B)

69. Essential of trespass to goods is/are :

(A) Possession

(B) Direct physical interference

(C) Without lawful justification

(D) All of the above

70. Case related to trespass to goods is/are :

(A) Lochgell Iron vs. M.Mullan

(B) Varden vs. Waltham Forest
London Council

(C) Both (A) and (B)

(D) None of these

66. baXyS.M esa & vid`R; ¼eky ds izfr gLr{ksi
vf/kfu;e] ____ }kjk fMVsU;w ds vid`R;ksa
dks lekIr fd;k x;kA

(A) 1971

(B) 1977

(C) 1981

(D) buesa ls dksbZ ugha

67. fdlds vuqlkj] ^^fdlh vU; O;fDr ds
dCts esa eky ds izfr fcuk dkuwuh vkSfpR;
ds izR;{k HkkSfrd gLr{ksi dks eky ds izfr
gLr{ksi dgrs gSaA**\

(A) lke.M

(B) csaFke

(C) vkfLVu

(D) buesa ls dksbZ ugha

68. eky ;k oLrqvksa ds izfr vfrpkj gksrk gS %

(A) Lo;a esa vuq;ksT;

(B) Lo;a esa vuq;ksT; ugha

(C) nksuksa (A) vkSj (B)

(D) ;k rks (A) ;k (B)

69. eky ds izfr vfrpkj ds vko';d rRo gS %

(A) dCtk

(B) izR;{k HkkSfrd gLr{ksi

(C) fcuk dkuwuh vkSfpR; ds

(D) mi;qZDr lHkh

70. eky ds izfr vfrpkj ls lEcfU/kr okn gS %

(A) ykdxsy vkbju cuke ,e- eqyu

(B) okMsZu cuke okyFkke QkWjsLV yanu
dkmafly

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha
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71. For tort, the status of English law was

rudimentary or backward in ____.

(A) 1066 A.D

(B) 1076 A.D

(C) 1086 A.D

(D) 1096 A.D

72. In beginning, difference between tort and

crime in England was :

(A) Acceptable/admissible

(B) Non-acceptable/admissible

(C) Both (A) and (B)

(D) None of these

73. According to whom, "The Penal Law of

Primitive communities was not the Law of

crimes but the Law of wrongs or torts."?

(A) Austin

(B) Bentham

(C) Salmond

(D) Henry Maine

74. Writ of Trespass was introduced in :

(A) 11th Century

(B) 12th Century

(C) 13th Century

(D) 14th Century

75. Primary Common Law was mainly related

to :

(A) Rights

(B) Remedies

(C) Both (A) and (B)

(D) Either (A) or (B)

71. okLrs vid`R;] vaxzsth fof/k dh fLFkfr____

esa  fiNM+h gqbZ Fkh ;k vYifodflr FkhA

(A) 1066 bZ-

(B) 1076 bZ-

(C) 1086 bZ-

(D) 1096 bZ-

72. izkjEHk esa baXyS.M esa vid`R; rFkk vijk/k
esa vUrj %

(A) Lohdk;Z Fkk

(B) Lohdk;Z ugha Fkk

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

73. fdlds vuqlkj] ^^vkfne leqnk;ksa dh n.M
fof/k vkijkf/kd fof/k u gksdj nks"kksa ;k
vid`R; dh fof/k FkhA**\

(A) vkfLVu

(B) csaFke

(C) lke.M

(D) gsujh esu

74. vfrpkj dh fjV dks izkjEHk fd;k x;k ___

esaA

(A) 11oha 'krkCnh

(B) 12oha 'krkCnh

(C) 13oha 'krkCnh

(D) 14oha 'krkCnh

75. izkjfEHkd dkWeu yk eq[;r;k lEcfU/kr Fkk %

(A) vf/kdkjksa ls

(B) mik;ksa ls

(C) nksuksa (A) vkSj (B)

(D) ;k rks (A) ;k (B)
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76. Essential element/s of trespass to land

is/are :

(A) Interference with Possession

(B) Interference without valid justified

(C) Both (A) and (B)

(D) None of these

77. Which is / are type of possession?

(A) De facto possession

(B) De jure possession

(C) Both (A) & (B)

(D) Either (A) or (B)

78. Which is/are related to trespasser ab

initio?

(A) License

(B) Misuse

(C) Right to entry

(D) All of the above

79. Case related to trespass ab initio is / are :

(A) Baron vs. Skyviews & General

Ltd.

(B) Holmes vs. Wilson

(C) Six carpenter's case

(D) All of the above

80. Remedies for Trespass of land is / are :

(A) Re-entry

(B) Action for ejectment

(C) Action for mesne profits

(D) All of the above

76. Hkwfe ds izfr vfrpkj dk vko';d rRo gS %

(A) dCts ds izfr gLr{ksi

(B) fcuk oS/k vkSfpR; ds gLr{ksi

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

77. dCts dk izdkj gS %

(A) rF;su dCtk

(B) fof/k esa dCtk

(C) nksuksa (A) vkSj (B)

(D) ;k rks (A) ;k (B)

78. D;k vkfnr% vfrpkjh ls lEcfU/kr gS\

(A) ykblsal

(B) nq#i;ksx

(C) izos'k dk vf/kdkj

(D) mijksDr lHkh

79. vkfnr% vfrpkj ls lEcfU/kr okn gS %

(A) cSju cuke LdkbZO;wt tujy fy-

(B) gksEl cuke foylu

(C) flDl dkjisUVlZ okn

(D) mi;qZDr lHkh

80. Hkwfe ds izfr vfrpkj ds fy;s mipkj gS %

(A) iqu% izos'k

(B) csn[ky djus ds fy;s okn

(C) e/;orhZ ykHkksa ds fy;s okn

(D) mijksDr lHkh
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81. Case related to Liability for Negligent
Misstatement is/are :

(A) Cann vs. Wilson

(B) Videan vs. British Transport
Commission

(C) Both (A) and (B)

(D) None of these

82. Tort related to passing off is originated in
_____ Century.

(A) 18th

(B) 19th

(C) 20th

(D) 21st

83. In which it was held that "A man is not to
sell his own goods under the pretense
that they are the goods of another man."?

(A) Hurst vs. Picture Theatres Ltd.

(B) Wood vs. Leadbitter

(C) Perry vs. Truefitt

(D) All of the above

84. Case related to passing off is/are :

(A) Mohan Meakin Ltd. vs. Kashmir
Distilleries

(B) Durga Dutt vs. Navrantana
Laboratories

(C) ITC Ltd. vs. Phurba Lama

(D) All of the above

85. Essential element of Battery is / are :

(A) Use of force

(B) Intentionally

(C) No lawful justification

(D) All of the above

81. vis{kkiw.kZ feF;k dFku ds fy;s nkf;Ro ls
lEcfU/kr okn gS %

(A) dSu cuke foylu

(B) ohfMvu cuke fczfV'k VªkaliksVZ
deh'ku

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

82. feF;k uke ls O;kikj djus ds vid`R; dh
mRifÙk ____ 'krkCnh esa gqbZA

(A) 18oh-

(B) 19oh-

(C) 20oh-

(D) 21oh-

83. fdl okn esa dgk x;k fd ^^dksbZ O;fDr
vius eky dks bl cgkus ;g fn[kkos ds
lkFk ugha csp ldrk fd eky fdlh vU;
O;fDr dk gSA**\
(A) gLVZ cuke fiDpj fFk;sVj fy-
(B) oqM cuke ysMfcVj
(C) iSjh cuke VwªfQV
(D) mi;qZDr lHkh

84. feF;k uke ls O;kikj djuk ls lEcfU/kr
okn gS %
(A) eksgu esfdu fy- cuke d'ehj

fMfLVyjht
(B) nqxkZ nÙk cuke uojRu yScksjsVªht
(C) vkbZ-Vh-lh-fy- cuke QwokZ ykek
(D) mi;qZDr lHkh

85. voS/k izgkj dk vko';d rRo gS %

(A) cy dk iz;ksx

(B) tku&cw>dj

(C) fcuk dkuwuh vkSfpR; ds

(D) mi;qZDr lHkh
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86. Essential element of false imprisonment
is / are ____ of the liberty of the person.

(A) Restraint

(B) Partial restraint

(C) Total restraint

(D) All of the above

87. Defense against tort of false imprisonment
is/are :

(A) Contributory negligence

(B) Self-defense

(C) Consent

(D) All of the above

88. Remedies against false imprisonment is/
are :

(A) Suit/Case for Harm/Loss

(B) Writ of Habeas Corpus

(C) Both (A) and (B)

(D) None of these

89. Kind of Defamation is/are :

(A) Libel

(B) Slander

(C) Both (A) and (B)

(D) None of these

90. In English Law, Libel is an :

(A) Tort

(B) Crime

(C) Both (A) and (B)

(D) Either  (A) or (B)

86. O;fDr dh LorU=rk ij ____ voS/k dSn dk
vko';d rRo gSA

(A) vojks/k

(B) vkaf'kd vojks/k

(C) iw.kZ vojks/k

(D) mi;qZDr lHkh

87. voS/k dSn ds vidR̀; ds izfr cpko gS %

(A) va'knk;h mis{kk

(B) vkRej{kk

(C) lEefr

(D) mi;qZDr lHkh

88. voS/k dSn ds izfr@fo#) mik; gS %

(A) uqdlkuh ds fy, okn

(B) canh izR;{khdj.k fjV

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

89. ekugkfu dk izdkj gS %

(A) vieku ys[k

(B) vieku opu

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

90. vaxzsth fof/k esa] vieku ys[k gksrk gS %

(A) vid̀R;

(B) vijk/k

(C) nksuksa (A) vkSj (B)

(D) ;k rks (A) ;k (B)
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91. Primary Common Law is known as ___ of
writs.

(A) Definition

(B) Commentary

(C) Both (A) and (B)

(D) None of these

92. In England Writ of Trespass was filed in
the court of :

(A) Common Court

(B) King's Court

(C) Queen's Court

(D) All of the above

93. The principle of "Ubijus ibi remedium" was
propounded in the case of :

(A) Ashby vs. White

(B) Nocton vs. Ashburton

(C) Merry vs. Nickson

(D) The Empire Jamaica case

94. Tort Law in India is ____ based on English
tort Law.

(A) Absolutely

(B) Ordinarily

(C) Partial / Fractional

(D) None of these

95. M.C. Mehta vs. Union of India AIR ___ is
also known as / famous as Oleum Gas
Leak Case.

(A) 1977

(B) 1983

(C) 1987

(D) 1997

91. izkjfEHkd dkWeu ykW dks fjV~l dh ____ Hkh
dgrs gSaA

(A) ifjHkk"kk

(B) leh{kk

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

92. baXyS.M esa vfrpkj dh fjV _____ esa nk;j
dh tkrh FkhA

(A) lkekU; U;k;ky;

(B) fdaXl U;k;ky;

(C) DohUl U;k;ky;

(D) mi;qZDr lHkh

93. fdl okn esa ^^tgk¡ vf/kdkj gS ogk¡ mik;
gS** dk fl)kUr izfrikfnr fd;k x;k\

(A) ,s'kch cuke OgkbZV

(B) ukWDVu cuke ,s'kcVZu

(C) eSjh cuke fuD'ku

(D) bEik;j teSdk okn

94. Hkkjr esa vid̀R; fof/k ____ vaxzsth vid̀R;
fofèk ij vk/kkfjr gSA

(A) iw.kZr;k

(B) lkekU;r;k
(C) vkaf'kd
(D) buesa ls dksbZ ugha

95. ,e-lh- esgrk cuke Hkkjr la?k] ,-vkbZ-
vkj- ____] vksfy;e xSl fjlu okn ds
uke ls fo[;kr gSA
(A) 1977

(B) 1983

(C) 1987

(D) 1997

[P.T.O.]
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96. In English Law, Slander is an :

(A) Tort

(B) Crime

(C) Both (A) and (B)

(D) Neither (A) nor (B)

97. Libel is an :

(A) Actionable per se

(B) Non-actionable per se

(C) Conditional actionable

(D) All of the above

98. Which is/are crime under Indian Law?

(A) Libel

(B) Slander

(C) Both (A) and (B)

(D) None of these

99. Which Section of Indian Penal Code is

related to / deals with defamation?

(A) 411

(B) 499

(C) 511

(D) 399

100. Case related to defamation is/are :

(A) Robinson vs. Kilvert

(B) Parvathi vs. Mannar

(C) Both (A) and (B)

(D) None of these

96. vaxzsth fof/k esa] vieku opu gksrk gS %

(A) vid̀R;

(B) vijk/k

(C) nksuksa (A) vkSj (B)

(D) uk rks (A) uk (B)

97. vieku ys[k gksrk gS %

(A) Lor% vuq;ksT;

(B) Lor% vuq;ksT; ugha

(C) l'krZ vuq;ksT;

(D) mi;qZDr lHkh

98. Hkkjrh; fof/k ds vUrxZr vijk/k gS %

(A) vieku ys[k

(B) vieku opu

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha

99. Hkkjrh; n.M lafgrk dh dkSu&lh /kkjk
ekugkfu ls lEcfU/kr gS\

(A) 411

(B) 499

(C) 511

(D) 399

100. ekugkfu ls lEcfU/kr okn gS %

(A) jkWfcUlu cuke fdyoVZ

(B) ikoZFkh cuke eUukj

(C) nksuksa (A) vkSj (B)

(D) buesa ls dksbZ ugha
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ROUGH WORK / jQ dk;Z



Example :

Question :

Q.1

Q.2

Q.3

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question
Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
g q, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s ] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ysaA

A C D

A D

A C D

B

A C D

A D

A C D

B


